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QUESTION 1

Why do we use Git when modeling calculation views? 

A. Develop conceptual prototypes 

B. Enable collaboration between developers 

C. Provide access to external schemas 

D. Control specifically object versioning 

Correct Answer: D 

 

QUESTION 2

Which type of join supports a temporal condition in a calculation view? 

A. Left outer join 

B. Text join 

C. Referential join 

D. Inner join 

Correct Answer: D 

 

QUESTION 3

In SAP Web IDE for SAP HANA, what can a flowgraph generate in a predictive analysis scenario? 

Note: There are 2 correct answers to this question. 

A. Function 

B. Container 

C. Procedure 

D. Task 

Correct Answer: CD 

 

QUESTION 4

Why does query performance decrease when the data volume of the delta storage is large? 

Note: There are 2 correct answers to this question. 
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A. The data is unstructured. 

B. The data is uncompressed. 

C. The data is stored in the warm tier. 

D. The data is NOT sorted. 

Correct Answer: BD 

 

QUESTION 5

You want to expose a hierarchy that is defined in a calculation view for access to SQL which of the following conditions
must be met? 

Note: There are 2 correct answers . 

A. The hierarchy must be a local hierarchy. 

B. The hierarchy must be exposed by a calculation view of type CUBE with star join. 

C. The hierarchy must be defined in a calculation view of type SQL ACCESSONLY. 

D. The hierarchy must be a shared hierarchy. 

Correct Answer: BD 
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